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Edad                  
(x)

n nmx nqx lx ndx nLx Tx eo
x

0 1 0.02761 0.02698 100,000 2,698 97,771 0.97033 (a) 7,286,838 72.87
1 4 0.00176 0.00702 97,302 683 387,392 0.99420 (b) 7,189,068 73.87
5 5 0.00062 0.00311 96,620 300 482,347 0.99723 6,801,675 70.38
10 5 0.00049 0.00243 96,319 234 481,010 0.99633 6,319,328 65.60
15 5 0.00098 0.00491 96,085 471 479,248 0.99390 5,838,318 60.75
20 5 0.00147 0.00731 95,614 696 476,329 0.99180 5,359,070 56.03
25 5 0.00183 0.00910 94,918 859 472,441 0.99047 4,882,741 51.42
30 5 0.00200 0.00996 94,059 931 467,967 0.98926 4,410,300 46.86
35 5 0.00232 0.01153 93,128 1,067 462,973 0.98714 3,942,332 42.30
40 5 0.00286 0.01419 92,061 1,298 457,061 0.98325 3,479,359 37.76
45 5 0.00391 0.01936 90,763 1,746 449,450 0.97687 3,022,298 33.26
50 5 0.00547 0.02697 89,017 2,384 439,125 0.96653 2,572,848 28.86
55 5 0.00820 0.04016 86,633 3,451 424,538 0.94983 2,133,722 24.58
60 5 0.01251 0.06060 83,182 4,997 403,416 0.92315 1,709,185 20.50
65 5 0.01981 0.09419 78,184 7,282 372,718 0.87962 1,305,769 16.65
70 5 0.03236 0.14936 70,903 10,457 328,373 0.81027 933,051 13.10
75 5 0.05395 0.23726 60,446 14,162 266,828 0.55597 (c) 604,679 9.95
80 ω 0.13829 1.00000 46,285 46,285 337,850 337,850 7.25

0 1 0.03187 0.03105 100,000 3,105 97,436 0.96637 (a) 7,021,982 70.22
1 4 0.00183 0.00730 96,895 707 385,751 0.99363 (b) 6,924,547 71.46
5 5 0.00069 0.00346 96,188 333 480,107 0.99683 6,538,796 67.98
10 5 0.00058 0.00287 95,855 275 478,586 0.99512 6,058,689 63.21
15 5 0.00138 0.00688 95,579 658 476,252 0.99112 5,580,103 58.38
20 5 0.00219 0.01090 94,921 1,034 472,021 0.98781 5,103,851 53.77
25 5 0.00272 0.01350 93,887 1,268 466,265 0.98624 4,631,830 49.33
30 5 0.00282 0.01402 92,619 1,299 459,849 0.98535 4,165,565 44.98
35 5 0.00308 0.01528 91,320 1,395 453,114 0.98351 3,705,716 40.58
40 5 0.00357 0.01771 89,925 1,593 445,645 0.97927 3,252,602 36.17
45 5 0.00482 0.02381 88,333 2,103 436,405 0.97177 2,806,958 31.78
50 5 0.00666 0.03277 86,230 2,826 424,084 0.95954 2,370,553 27.49
55 5 0.00992 0.04841 83,404 4,037 406,926 0.94037 1,946,469 23.34
60 5 0.01481 0.07142 79,366 5,668 382,662 0.90924 1,539,543 19.40
65 5 0.02364 0.11159 73,698 8,224 347,931 0.85957 1,156,882 15.70
70 5 0.03785 0.17289 65,474 11,320 299,072 0.78564 808,951 12.36
75 5 0.06096 0.26449 54,154 14,323 234,964 0.53918 (c) 509,879 9.42
80 ω 0.14489 1.00000 39,831 39,831 274,915  274,915 6.90

0 1 0.02313 0.02270 100,000 2,270 98,123 0.97448 (a) 7,564,942 75.65
1 4 0.00169 0.00672 97,730 657 389,116 0.99479 (b) 7,466,820 76.40
5 5 0.00055 0.00274 97,073 266 484,699 0.99764 7,077,703 72.91
10 5 0.00039 0.00197 96,807 191 483,556 0.99760 6,593,005 68.10
15 5 0.00057 0.00284 96,616 274 482,394 0.99681 6,109,449 63.23
20 5 0.00071 0.00355 96,342 342 480,853 0.99599 5,627,055 58.41
25 5 0.00090 0.00447 96,000 429 478,926 0.99492 5,146,202 53.61
30 5 0.00114 0.00570 95,571 545 476,492 0.99336 4,667,276 48.84
35 5 0.00152 0.00759 95,026 722 473,326 0.99096 4,190,784 44.10
40 5 0.00211 0.01049 94,304 989 469,049 0.98742 3,717,458 39.42
45 5 0.00296 0.01469 93,315 1,371 463,147 0.98223 3,248,409 34.81
50 5 0.00422 0.02088 91,944 1,920 454,919 0.97386 2,785,261 30.29
55 5 0.00640 0.03150 90,024 2,836 443,030 0.95977 2,330,342 25.89
60 5 0.01010 0.04923 87,188 4,293 425,208 0.93776 1,887,312 21.65
65 5 0.01578 0.07591 82,895 6,293 398,745 0.90067 1,462,104 17.64
70 5 0.02659 0.12466 76,603 9,550 359,139 0.83613 1,063,359 13.88
75 5 0.04659 0.20867 67,053 13,992 300,286 0.57359 (c) 704,220 10.50
80 ω 0.13136 1.00000 53,061 53,061 403,934  403,934 7.61                                                                                                                                                                               

f0  = 0.1737 f0  = 0.1742 f0  = 0.1731

4k1 = 1.3355 4k1 = 1.4130 4k1 = 1.2542

                 f0 = [L0 - l1] / d0                                       4k1 = [4L1 - 4 * l5] / 4d1

        (a) 5Pb = [1L0 + 4L1 ] / [5 * l0]                   (b) 4P0 = 5L5 / [1L0 + 4L1]                         (c) wP75 = wT80 / 5T75
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